

ECUACIONES DE PRIMER GRADO CON UNA INCÓGNITA

1) $a + 3(a - 1) = 6 - 4(2a + 3)$

2) $5(v - 1) + 16(2v + 3) = 3(2v - 7) - v$

3) $2(3b + 3) - 4(5b - 3) = b(b - 3) - b(b + 5)$

4) $184 - 7(2m + 5) = 301 + 6(m - 1) - 6$

5) $7(18 - n) - 6(3 - 5n) = -(7n + 9) - 3(2n + 5) - 12$

6) $3t(t - 3) + 5(t + 7) - t(t + 1) - 2(t^2 + 7) + 4 = 0$

7) $-3(2s + 7) + (-5s + 6) - 8(1 - 2s) - (s - 3) = 0$

8) $(3r - 4)(4r - 3) = (6r - 4)(2r - 5)$

9) $(4 - 5F)(4F - 5) = (10F - 3)(7 - 2F)$

10) $(y + 1)(2y + 5) = (2y + 3)(y - 4) + 5$

Respuestas:

1) $a = -\frac{1}{4}$

2) $v = -2$

3) $b = 3$

4) $m = -7$

5) $n = -4$

6) $t = 5$

7) $s = 5$

8) $r = \frac{8}{13}$

9) $F = \frac{1}{35}$

10) $y = -1$